EENG382 HW09 — AUTHOR’S SOLUTIONS
NOTE: | have not yet verified that the author’s solutions are, in fact, correct.
Prob 16.17
P 16.17 [a] i(t) is odd, therefore a, = 0 and by = 0 for all k.
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Prob 16.29
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Prob 16.29 (Cont’d)
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= 216.45 x 107 + 1.27 x 10~ cos(2407t + 6.11°)
+6.35 x 1077 cos(4807t + 3.04°)
+1.21 x 107° cos(7207t + 2.03°)
+3.8 x 1079 cos(9607t + 1.11°) — . ..
ip = 216.45 + 1.27 cos(2407t + 6.11° ) mA

Note that the sinusoidal component is very small compared to the de
component, so

ip = 216.45mA  (a de current)

[b] The circuit is a low pass filter, so the harmonic terms are greatly reduced
in the output.



Prob 16.34
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(c] Error = ( 1) 100 = —0.9041%






